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M 2SIMR
g2 Ngos 238 X2

[uinsd
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ojF2 (crel el
SA-HH O (BH) - MBAY - BAS aﬁiﬂgf; HRS2
486, 148 432,905 53,243
3 249 A& 457,478 408,483 48,995
oE2YE 329,048 320,200 8,848
gz I3 292,528 291,584 944
205 2| 3|H| 292,528 291,584 944
01 2/&&sHl 92,400 92,400 0
O Q™S =H(HNH) 1,100,000& = 7 = 12& 92,400
02 ™Y 75,600 75,600 0
O o& gdsd 900,000& = 7 = 12& 75,600
03 =UWobl 19,300 18,452 848
O SJHESHHI (W) 20,000& * 7 » 52 x 10& 7,000
O H&oglAS Y SJFH N2 LY (22) 50,000& = 798 = 2& * 10& 7,000
O o2&y 2t&3 AN 20,000& » 7 = 32 x 10& 4,200
O &= L MY AIZoEG F4A 50,000& * 1 = 128 600
O &Y AEYE 12HAIZ2 AE3EHEO A 50,000& = 1™ = 103 500
04 =2 bl 18,200 18,200 0
O 9&, B2o& HdEogesE o2l 2,500,000& ~ 2% * 1.3 6,500
O 9@ Hd&og eI ol 20t 1,800,000& *~ 5% * 1.3 11,700
05 AESISSHFF=EI 39,600 39,600 0
O o8sS34H| 4,800,000& = 74 33,600
O B AMEERAS 1,000,000& * 6H 6,000
06 JN2SIHFF=EH| 38,400 38,400 0
O o & 1,990,000& = 12& 23,880




FAH: 2SIMB
g Ngos 28

£Hol: o F2Y D
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
O 29F 1,050,000& * 123 12,600
O WZRIAE 640,000& * 33 1,920
07 AEHEANREES 4,600 4,600 0
O dIANZF2 3o HEHAH S| 4,000,000 4,000
O &= A2 &3 A3l 50,000& * 12& 600
08 SJA=RAZIRLS 2,430 2,484 A54
O oa=3odg 2= 81,000& * 5%  12&8 * 0.5 2,430
09 QI =0NAHARGE = 1,998 1,848 150
O 93 AH2AEE8gs & LAEIIRYEEE 23 47,5602 « 798 « 128 + 0.5 1,998
oEEE 22 Y JIIEEE 36,520 28,616 7,904
201 ptEd| 36,520 28,616 7,904
01 AtS2teldl 33,820 26,220 7,600
O o3| AAX g2t 10,000& * 5005 * 23l 10,000
O ZAsl(LAla)slo=E L2t 15,0002 * 1002 = 103 15,000
O 23|t 2 Xt &2t 5,000& x5002 13| 2,500
O AFHLREE g2t 12,0003 3005 3,600
O =239% =3H02 2 50,000& » 1A « 103 500
O o&&s JI§ "oz 2 60,000& » 1A « 103 600
O d¥as JIIZEEE AT (5+7) 1,500 4501« 122 810
O d¥&as JIISEEE AT (4+6) 300& = 22500 * 12& 810
02 23293l 2,700 2,396 304
O EEEE 4 2UE(LE2H) 2502 = 10004 = 123 300
O SHEEE U5 2ER(SIIRH) 1,7502 * 5004 = 12& 1,050
O oEgs RER 2,700& » 505 * 103l 1,350
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FAH: 2SIMB
g Ngos 28

chel: o3 2 (el @)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

o323 128,430 88,283 40,147
A2 S 128,430 88,283 40,147
201 LptEgy| 42,430 39,270 3,160
01 AtR2teld] 28,470 21,150 7,320

O 2%, 2oF o2 &Z &l 400,000& * 30HA 1,200

O 2%, 2oF, MR 29 800,000& =+ 12& 9,600

O g3z J1E83 +¢ 10,000& *30074 3,000

O AEYRFN SEHI 7,000& * 99 * 52 « 123 3,780

O =D & 20| 2l 15,000& = 304 = 12& 540

O 23 8 & &4 M 200,000& * 64 1,200

O EE& 21 < 10,000& * 2074 200

O A=l 500,000& * 78 * 23| 7,000

O E2¥ IANE HoA3 & 70,0002 » 39¥ * 23 420

O 1=l 170,000& = 99H 1,530
02 ==2gl 13,960 13,120 840

O HE2IU(FLR) 1,700& * 504 = 53| » 123 5,100

O IERFIH(ER) 1,400& * 504 » 43| » 123 3,360

O xtg2eldl 2,250,000& = 2CH 4,500

O AEZEHl =&l 1,000,000 1,000
202 Oidl 29,900 27,313 2,587
01 2UAHI 18,900 17,313 1,587

O G2 FTAHYI(ZLH) 20,000& * 53 » 5 « 128 6,000

O od&3xEsd & AEG2FTALI(22) 50,0003 * 2H = 4 * 128 4,800




A 23 ARt
g Ngos 28

& 23 2d (ctel: &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
O 2 oE¥es =d0otl 20,000& » 2H = 10 = 123 4,800
O dEAZoE3 =0l 50,000 * 2H = 1 * 128 1,200
O XN&os qFEHA+=UE 0] 50,000 » 7 » 3 * 23] 2,100
04 =Mzt bl 11,000 0 11,000
O HXASIAIZ (@ ==8)oH 2 Kl 3,000,000& 2 6,000
O X232t A2 HelHAs ol 2,500,000& 2 5,000
203 ¥RF&dl 10,000 10,000 0
03 AIMFAHLR =AY 10,000 10,000 0
O SJZANHBHRFEH| 10,000, 000& 10,000
206 M =4l 800 800 0
01 =4l 800 800 0
O o&E stz #< 50,0003 2& * 83| 800
207 HFOHEH] 40,000 5,000 35,000
02 M AHHE I 40,000 5,000 35,000
O 2 ZMHOIX &bl 40,000,000& = 14l 40,000
303 Za= 300 300 0
01 Z&= 300 300 0
O 2d3rd SR A3 100,000& = 3H * 13| 300
405 RH&HESHI 5,000 5,000 0
01 XML ESESFH=HI 5,000 5,000 0
O 93 ¥ o2ARA I 5,000,000& = 14l 5,000
HY2IZHI (AZIAMRD) 28,670 24,422 4,248
el A 5,000 5,000 0
|




SA: OB AR D
Ha: BHSAAH| (S AR D)
chel: oz 2| (B2l & 2)
SA-EH-SRABA) - NEAMNY - BES Off &F K gggf; HwsZ
olzi 2 gy 5,000 5,000 0
203 YREXH| 5,000 5,000 0
02 FAIINYSETY| 800 800 0
O #42lg, 22228 X8 S 80,0002 * 102 800
04 SASIYSETY 4,200 4,200 0
O RN2IYLFT| 250,0008 * 122 3,000
O N3 W2 RN2F YR EAY| 10,0008 * 128 1,200
o223l 23,670 19,422 4,248
122l 23,670 19,422 4,248
201 Ypre | 23,670 19,422 4,248
01 AR22IH| 19,500 16,552 2,948
O =A 8N 2| 17,0008 * 58t2 = 20f « 122 2,040
O =ZAI |X 22l 350,0008 * 2CH * 28] 1,400
O ZEif ¢ BA x| 200,000 » 10CH * 13| 2,000
O AMNEY MNRBE 7Y 35,0008 * 9% * 128 3,780
O #yss 7Y 500,0008 * 13| 500
O A¥HELE AP 1,000,008 * 13| 1,000
O ARAL 24 HE] 2,0008 * 100% * 43l 800
O 239% S HIHIINE SHM 1,500,008 * 15| 1,500
O densz 12,0008 * 3558 « 122 5,040
O F2X 7E2 15,0002 85+ 122 1,440
02 BT 4,170 2,870 1.300
O XHEx HIIZM 222 30,0008 = 20H * 13 60
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N ZH: SHA
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el Jl=23l
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0
F
o

A BB S(S) - NEAY - BES 04 4 o e =5
OR==P Fa b == 25,0003 * 10H * 28 50
O ANsSXH(E5EX) 250,000& * 1CH = 23] 500
O XNsSXH(SEX) 80,000& = 10H » 23l 160
O NsSHEBEZE(SEX) 500,000& * 1CH 500
O NSAHEBEZ(SER) 500,000& * 1CH 500
O getdsle= 200,000& = 10H = 128 2,400




